Garland Independent School

GISD Sourcing Bid Tab Report

Bid#:	32159	Title: 227-19 PAINT AND PAINTING SUPPLIES			
	Vendor / Supplier PIONEER MANUFACTURING CO INC	EPCNT Yes	Discount 0% discount, catalog discounts may apply		
566728	PPG ARCHITECTURAL FINISHES INC	Yes	40% off Paint 20% off Paint Supplies		
566727	SHERWIN WILLIAMS	Yes	15%		

Line						
#	Item Description	UOM	Supplier	Qty	Price	Extended Price
	5 Gallon Container, Concrete Stain - volume solids 30 +/- 2% with weight solids 43 +/-2% Must meet or exceed ASTM G154,					
1	ASTM G90 and ASTM D1712.	EA	SHERWIN WILLIAMS	50	\$25.04	\$1,252.00
		EA	PPG ARCHITECTURAL FINISHES INC	50	\$150.00	\$7,500.00
	Catalyzed Gallon, Epoxy Floor Coating -polyamide epoxy coating with volume solids 65% +/-2% and weight solids 74% +/-2%. Must meet or exceed ASTM D4060 (abrasion resistance), ASTM D4541 (adhesion, over concrete), ASTM D2794 (direct impact resistance) and ASTM C1028-96					
2	(slip resistance, floors).	GL	SHERWIN WILLIAMS	50	\$95.49	\$4,774.50
		GL	PPG ARCHITECTURAL FINISHES INC	50	\$185.00	\$9,250.00
3	5 Gallon Container, RED Traffic Paint -Chlorinated Rubber traffic paint volume solids 50% and weight solids 74% minimum. Must meet or exceed ASTM D711 (dry time) and TT-P-115F (water resistance).	EA	SHERWIN WILLIAMS	50	\$17.50	\$875.00
		EA	PPG ARCHITECTURAL FINISHES INC	50	\$95.00	\$4,750.00
	5 Gallon Container, YELLOW Traffic Paint -Chlorinated Rubber traffic paint volume solids 50% and weight solids 74% minimum. Must meet or exceed ASTM D711 (dry time) and TT-P-115F (water					
4	resistance).	EA	SHERWIN WILLIAMS	50	\$17.50	\$875.00
		EA	PPG ARCHITECTURAL FINISHES INC	50	\$76.00	\$3,800.00

	1					
5	5 Gallon Container, WHITE Traffic Paint –Chlorinated Rubber traffic paint volume solids 50% and weight solids 74% minimum. Must meet or exceed ASTM D711 (dry time) and TT-P-115F (water resistance).	EA	SHERWIN WILLIAMS	50	\$17.50	\$875.00
~					÷	<i>40.000</i>
			PPG ARCHITECTURAL			
		EA	FINISHES INC	50	\$76.00	\$3,800.00
	5 Gallon Container, RED Alkyd Traffic Paint -must have volume solids of 48% minimum and weight solids of 70% minimum. Must meet or exceed ASTM D7111 @ 50 degrees relativity humidity (Dry no Pickup), Water Resistance TT-P-115f, ASTM D562 Viscosity and Directional Reflectance ASTM					
6	E97.	EA	SHERWIN WILLIAMS	225	\$12.41	\$2,792.25
	5 Gallon Container, YELLOW	EA	PPG ARCHITECTURAL FINISHES INC	225	\$97.00	\$21,825.00
7	Alkyd Traffic Paint - must have volume solids of 48% minimum and weight solids of 70% minimum. Must meet or exceed ASTM D7111 @ 50 degrees relativity humidity (Dry no Pickup), Water Resistance TT-P- 115f, ASTM D562 Viscosity and Directional Reflectance ASTM	54		250	50.04	£0.250.50
7	E97.	EA	SHERWIN WILLIAMS	250	\$9.01	\$2,252.50
		EA	PPG ARCHITECTURAL FINISHES INC	250	\$76.00	\$19,000.00
	5 Gallon Container, WHITE Alkyd Traffic Paint - must have volume solids of 48% minimum and weight solids of 70% minimum. Must meet or exceed ASTM D7111 @ 50 degrees relativity humidity (Dry no Pickup), Water Resistance TT-P-115f, ASTM D562 Viscosity and Directional					
8	Reflectance ASTM E97.	EA	SHERWIN WILLIAMS	30	\$9.01	\$270.30
			PPG ARCHITECTURAL			
		EA	FINISHES INC	30	\$79.00	\$2,370.00

9	5 Gallon Container, Interior/Exterior Wall Primer - Waterborne coating that is fast dry, adhesion to slick glossy surfaces, stain blocker with volume solids 36 +-2%, weight solids 52 + -2%, must meet or exceed U.S. Green Building Council LEED NC, Version 2.2 and CI Version 2.0	EA	SHERWIN WILLIAMS PPG ARCHITECTURAL FINISHES INC	100	\$12.26 \$80.00	\$1,226.00 \$8,000.00
10	5 Gallon Container, Wash Primer - low VOC, water based wash primer free of heavy metals and mineral acids. Designed to be applied over aluminum and galvanizing. Must meet or exceed Adhesion ASTM D3359, Direct Impact D2794, Flexibility ASTM D522 and Pencil Hardness ASTM D3363. Weight solids 29 +- 2%, and volume solids 21 +-2%.	EA	SHERWIN WILLIAMS	50	\$37.27	\$8,000.00
11	5 Gallon Container, Bonding Primer - waterborne acrylic emulsion, adhesion-promoting bonding primer for hard, slick, glossy surfaces, and previously painted surfaces. Must be low odor and low VOC. Must meet or exceed Adhesion ASTM D4541, Direct Impact Resistance ASTM D2794, Moisture Condensation Resistance ASTM D485 and Pencil Hardness ASTM D3363.	EA	SHERWIN WILLIAMS PPG ARCHITECTURAL	30	\$28.06	\$841.80
		EA	FINISHES INC	30	\$178.00	\$5,340.00
12	5 Gallon Container, Wall Paint – Waterborne Coating must be low odor and low VOC with volume solids of 42 +-2% and weight solids of 53+-2%. Must be GreenGuard certified And meet or exceed LEED criteria for Schools. Must come in all sheens flat, eggshell and semi-gloss for white and deep tone colors.	EA	SHERWIN WILLIAMS	200	\$15.39	\$3,078.00
		EA	PPG ARCHITECTURAL FINISHES INC	200	\$150.00	\$30,000.00

13	1 Gallon Container, Metal Paint and Accent Colors -100% acrylic, water reducible, corrosion resistant coating for light to moderate industrial and commercial use. Can be used directly to prepared substrates. Must be chemical resistant, fast dry, low odor and low VOC. Must be tinted to light, deep tone, accent and safety colors. Must meet or exceed ASTM D4060 Abrasion Resistance, Adhesion ASTM D4541, Salt Fog Resistance ASTM B117 minimum 500 hours, Pencil Hardness ASTM D3363, and Flexibility ASTM D5222 with volume solids 38% +-2% and weight solids 50 +-2%.	GL	SHERWIN WILLIAMS	300	\$23.68	\$7,104.00
		GL	PPG ARCHITECTURAL FINISHES INC	300	\$114.75	\$34,425.00
14	1 Gallon Container, Light Poles and Aluminum Finish areas - Must be a single component, waterborne acrylic, adhesion promoting coating. Suitable for interior or exterior use and fast dry with low odor and low VOC. Must come in an aluminum finish with volume solids 37% + -2% and weight solids 39% +-2%. Must meet or exceed ASTM D4541 Adhesion, ASTM D5894 Corrosion Weathering, ASTM D2794 Direct Impact Resistance, ASTM D522 Flexibility and Salt Fog Resistance ASTM B117 minimum 500 hours.	GL	SHERWIN WILLIAMS	100	\$27.00	\$2,700.00
15	5 Gallon Container, Exterior Wall Paint -coating Must be 100% acrylic formula paintable to 35 degree temperature. Must have the ability to paint directly to masonry, aluminum and galvanized substrates. Must have the ability to make light, deeptone and accent colors and come in flat, satin and gloss finishes. Must have weight solids of 53% +-2% and Volume solids of 34% +-2%.	EA	SHERWIN WILLIAMS	50	\$18.41	\$920.50
		EA	PPG ARCHITECTURAL FINISHES INC	50	\$24.25	\$1,212.50

	1 Gallon Container, Exterior Wall Paint -coating Must be 100% acrylic formula paintable to 35 degree temperature. Must have the ability to paint directly to					
	masonry, aluminum and galvanized substrates. Must have the ability to make light, deeptone and accent colors and come in flat, satin and gloss finishes. Must have weight solids of 53% +-2%					
16	and Volume solids of 34% +-2%.	GL	SHERWIN WILLIAMS	200	\$18.41	\$3,682.00
		GL	PPG ARCHITECTURAL FINISHES INC	200	\$122.29	\$24,458.00
47	5 Gallon Container, Liquid Striping Paint -Must be a fast- drying, latex emulsion formulas designed specifically for lining and marking natural surfaces such as grass, cinder and dirt playing fields. Volume solids 31 +- 2% and weight solids 52 +-2%. Coating must not be harmful to	54		450	50.44	¢4 004 E0
17	eyes or natural grass.	EA	SHERWIN WILLIAMS	450	\$9.41	\$4,234.50
		EA	SECONDARY - PIONEER MANUFACTURING CO INC	450	\$40.75	\$18,337.50
		EA	PPG ARCHITECTURAL FINISHES INC	450	\$53.30	\$23,985.00
	1 (12 oz). Can Aerosol Striping Paint -Must be a Water-Based Aerosol Paint. Paint must be fast drying, non-clog spray, one-coat overage and VOC/MIR Complaint. Volume Solids 15 -22% and					
18	weight solids 25 - 3 7%	CN	SHERWIN WILLIAMS	300	\$4.64	\$1,392.00
			SECONDARY - PIONEER			
		CN	MANUFACTURING CO INC	300	\$4.67	\$1,401.00
		CN	PPG ARCHITECTURAL FINISHES INC	300	\$4.75	\$1,425.00
L	1			500	-φ 4. /3	φ1,42J.00